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MeandMath

BELIEVE YOURSELF

Addition and Subtraction

Worksheet-5

YOU CAN NEVER CROSS THE OCEAN UNLESS YOU HAVE
THE COURAGE TO LOSE SIGHT OF THE SHORE.
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1. The sum of two number is 1476890, if one number is 12 thousands greater than the other
number, what is the greater number?

A. 1464890 B. 1356892 C.744445 D. 732445

2. Which operations can be used to get the smallest possible result?

S 4 2

A. x,x B. x, + C. -+ D. x, +

3. If a bakery sold 45,678 cupcakes in the morning and 56,789 cupcakes in the afternoon,
how many cupcakes did they sell in total?

A. 102,467 cupcakes
B. 110,000 cupcakes
C. 99,999 cupcakes
D. 102,568 cupcakes

4. What is the value of 120tens + 3 hundreds + 3000nes 7

A. 1400 B. 1500 C. 1800 D. 2000

5. In a school event, there were 123,456 attendees in the morning and 234,567 attendees in
the evening. How many people attended the event in total?

A. 358,123 B. 357,923 C. 358,223 D. 358,0231

6. What is the difference between the face value and place value of 9 in the number
265943257

A. 89991 B. 9999 C. 10999 D. 89982

7. A farmer harvested 234,567 apples from one orchard and 345,678 apples from another
orchard. How many apples did the farmer harvest in total?

A. 400,000 B. 580,245 C. 600,000 D.579,245




8. Jaya has 640 stickers and Neeta has 520 stickers. How many stickers should Jaya give Neeta
so that Neeta has 20 more stickers than Jaya?

A.70 B. 90 C. 80 D. 60

9. If a factory produced 123,456 units of a product in January and 234,567 units in February,

how many units did they produce in total?

A. 345,678 B. 267,543 C. 358,023 D. 357,023

10. A grocery store sold 56,789 kg of rice and 67,890 kg of wheat. How many kilograms of
food did they sell in total?

A. 110,000 kg B. 135,678 kg C. 124,679 kg D. 123,456 kg




